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simplified o rts owwst ratio ot subscripts

-’Da—‘:e%m'me an empiricad. formule. *?rom
% composition o o data.
(Ex)A compound s bund to be,

Steps 53.8% Ba , 13744% S, 82:1.43%0.
(1) Assume. 100g of substany,

z conwert % 1o g 55,5980  133gS 84390
(2) conwrt g 4o mous 127.23%0l 33.04%, 1 0. OO0 g/mol
(3)Divide alf onsusers - |

by -the. smodlest ong - 428 1Hholba =, 42844l S = LH4 ot

in step 2 1o get the 420 HA%EAmd | L8174

ratio of +he efements i
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&< I compound contains, &) A compound corrtains &84 %
.()(’549 Fe, . 007LAg S, & o and the rest is O« Find
L O11590. Whot's its EF 2 e 6F  100-638.4 = 31, 6% O

013dgfe . 00HAS .01Bad 68,499 &  3lleg O

2.00023093 =,0002397#9 = .000F ] - 1.31538m0) = 1.9%5mol
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Molecular Formulas (MF)
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A molewlar =Pormg,1,g; 1s Hhe frue chamicol
formulos for o compcund

- Determine a molecolalr ‘R)rmu (oW
&x)A componerrt of “the, pr()tE\ ) Sering,

! nas o molat. moss o A~ 4909 s
(1) Find the. emp ir ool % compoaiton is 34.95% C ) ©. 844 % ,

%)rmulq(E(“) He. b(p%l\) and l:‘b '5‘1"/00 Find +he UF.
(2) Laloplote the molol

mass o4 +he empiricald 34959 C, cgcnolmolc&< 4 3

formu (0 CHMMer) 18.009%/mg/ ~ 844 ol
(3) Divide +he Molor MIss
of the molecvlar Rymulo. L8949 H _ L+l H g I )
(MMue), given inthe 2 by 1.0l Vmo' U4y
The MMef. This gius you :
+he muttiple. Hlo.56g N - 3.3233m0! N =/ N
G ulEp LL"he sulbseripts 14,01 ?moi =l mol
in-the EF by +hemu1;+u (e
1o qet +he. MF 13.59q90 ‘Edq'«lmol O 1 O )

0. Oo%imol . 5494 mo

(7 kG

MMce = FC x 18.01= 340t
b B X L.OI= (.l
g N X140l =118.08
4 QO xit,PF BZ.00
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&) A compeund condains 5.93% H - &) A rockat propellant is 30.43%N

and a4.0¢+%.0_and o. molar

moss ok ¢ Ind the, MF,

5934 H 94,04 4 O
1.0l %;l 160.00 %mu’

= 5 33129m0 = 5.$7933mol
R .l L e i
5. 8H29m/ 5. &9 mo/
< 4 H e W
EF = 1#HO
MM

I x(.0(9 =1.0l9
I 0 xi.009= 1.00 9
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MF-z(Ho):@

and (LA.51% has o moloy”
mass of ~38.0Q) Find +he MI-
3).43q N 09.5Fq O
/4.0 Yol 100.00 Yo/

= Q. 19202 mol N = 434/8/3mol0O
2, 17308mol A.17803.n0!

el ) (’)2 O
EF = NOy,
HMer

INx14.0lg = HOlg
A0 *16.009 = 38009
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